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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH. 7

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

QL Freferiea # & s wt e 150 wredt # v Hifw -

Explain the following in about 150 words each : 10x5=50
(a) &I SFIHAT

Goal Succession 10
(b) S forgfa

Span of Management 10
(¢ YeuhH firs

Managerial Grid 10
d TEEs

Quality Circles 10
(e) Wicafersh SuTTCHRa

Perceptual Selectivity 10

Q2. (a) Ty & Gyt it aHiuR @ W R | F FHEE A IS S

(b)

(c)
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Explain the concept and rationale of decentralisation. What are the
factors which influence decentralisation ? 20

“qF weruel 1 AfingEa fadivy wemERRl & sga R @ @ 17 39 S
wiierr T |

“The line managers’ orientation differs considerably from that of expert
advisors.” Examine this statement. 10

Ta-FeATihl W fagi % &d @e SN d 3 2 e e %
fore 3@ fagra & ffgaret =t e $ifse |

What are the main features of Neo-Classical organisation theory ?
Explain the implications of this theory for organisational design. 20
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Q3. (a)
(b)
(c)
Q4. (a)
(b)

(c)

SOF-B-COMA

“qurelt frsarer % o safveT T@ TR @E w Thitd HET TEvEH
2 1” 38 oA i Ty Hifsw |

“There is a need for integrating individual and organisational goals for
effective performance.” Explain this statement.

“Hrrarensh Gegt i safthea faSivarstt @1 oY W R ¥G IAH Afhed H
TG AT die419 3 17 38w hit e fife vd e wmA i e
fafermi =6t w9e Hifs |

“With a view to taking advantage of personality characteristics of
organisational members, it is desirable to measure their personality.”
Elucidate this statement and explain the various methods for measuring
personality.

oI §H hl YR Bl GUSEY | @A # YEUH fRE SRR TE §H
guTferd o 8 2

Explain the nature of perception. How does management affect
perception in the organisation ?

“Grrgarenss dftadq @i drenfiehE, gmfs wd onfde s % sEaR W
Herferd T &0 BT B |7 39 HuA it e Hifw | Awaites Seee %
st FE  Rada 6 R 3 B @ aEtE S e
a1fed ? |

“Organisational change has to be managed on technological, social and
economic dimensions.” Elaborate this statement. What precautions
should be taken in a democratic set-up to make a change acceptable to
the personnel ?

yfirehT God § T AT THHA & ? 3P HH-HH F B § ? YfFw1 T B g
# 6 fafet f fad=an Fifse |

What do you understand by role conflict ? What are its causes ? Discuss
the methods to overcome role conflict.

“Hegagr faveryu fqdafre suaEr &1 faven @ 3R aus 6 s fafy
2 1” 59 %4 =1 qligo fifse |

“Transactional analysis is a method of analysing and understanding
interpersonal behaviour.” Examine this statement.
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SECTION B

Q5. Trafefaa # & wedes &t e 150 vrsai § Tuse o

Explain the following in about 150 words each : 10x5=50
(a) & fafufe

Job Specification | 10
(b) HFE HETET TSI

Human Resource Planning 10

(¢) g WY wfdgfga

Trade Union Rivalry 10
(d) sfede Hfifa _

Exit Policy 10
(e)  Holgdl §HM IedTgehdl

Wages vs. Productivity 10

Q6. (a)

(b)

(c)
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‘FuaTg SUTRd JauA i Teheu1 HI WY hIfT | 3Hh B o dmmd § 2
3% g H & IIE AR |

Explain the concept of ‘Management by Exception’. What are its
limitations ? Suggest measures to overcome them. 10

“shreitfics T @ dfer S wHRE @ e % 4 gge we

H T W@ 7 |7 e fifvw | efeifie gerdl % e @ fafim
39T B ? _

“The fundamental aim of industrial relations is to maintain sound
relations between employees and employers.” Elucidate. What are the
various approaches to industrial relations ? 20

“ara A e HedTT YUl $T ST S99 Td 9y ® 17 Fa 3

39 %9 ¥ Teud & ? feonoft i |

“The compliance with the statutory labour welfare provisions in India is
half-hearted and inadequate.” Do you agree with this statement ?
Comment. 20



Q7. (a)
!
] (b)
I
(c)
Q8. (a)
(b)
(c)
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WRG # At W9 STEe TRy &9 @ fewfi T gen 2 17 w@ we
e Hifere |

“The Trade Union movement in India has not developed on healthy
lines.” Examine this statement. 10

“Sie et wxft wififes wRiwA F TE e % fru e @ 17 =
HU % I H, e fawereo & e va faftel e Hifag |

“Job analysis is useful for overall management of all personnel
activities.” In the light of this statement, explain the purpose and
methods of job analysis. 20

“TeaeA et Fae geaid & fore € 9 2, g 9w frsare # syafey
Td gur & for oft R 17 fevaeft Hifsm |

“Performance appraisal is not merely for appraisal, but also for
accomplishment and improvement of performance.” Comment. 20

T I W UF TR H b U R |7 56w % orelis §, W %
321 Ud WA i T8 I |

“Selection is virtually a kind of elimination process.” In the light of this
statement, explain the objectives and process of selection. 20

G Atk oo | weifea gftreh gueansli & =@ 7g, S=iga om
WA 1 FE-H T deglt § 2wl w5 weghEt B fea g @
qq T 51 g1 B 2

What are the recommendations of the International Labour Organisation
for minimising the labour problems related to international workforce ?
To what extent have these recommendations been fulfilled in the Indian
context ? 20

e foargl & FH-H9 4 Fro § 2 yRa # oieifies faE € Jeam
T td f9eH Bq 331¢ T HeHt Hr oy Fifvw |

What are the causes of industrial disputes ? Explain the steps taken for
preventing and settling industrial disputes in India. 10






